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& 4 & %
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B A @ % 6,913,752,477,581
2 B e @ % 6,787,124,763,107
3 B’ A & it £ 3| % 126,627,714,474
(1) REBEERBHE -
(2) BBBHBEBRBE 33,087,722,000

4 BEEABRBTREHE
(3) FMBH LBHE 1,659,593,000
& 34,747,315,000
5 = 5 i % % 91,880,399,474
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% REBODEEGNEL ARSI DEEARET R ZIEL OEHEERIABEHETSH S,
BEEGHE  DEE~BETSEEE FULA R EE
45,159, 250, 000 — 34,747,315, 000 = 10, 411,935, 000
r — =[F AN
EFEZZ7EF§§E%B¢#5“ BE#E&EH%E&K £t
X 4 S %
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(3) EMEBLEBRE -
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1 A A #“w % 165,727,613,945
2 % H #“w % 164,689,119,849
3 I A A H = El % 1,038,494,096
(1) MEEBRBEHMEE -
(2) BHEBHEBRMLE 258,126,000
4 DEEABRBBIRNETHRE
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5 = =1 Jiird b3 #E 780,368,096
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2 = H # % 4,015,639,103
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1 A A #“w % 2,386,968,354
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3 I A A H = El % 0
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4 TPEEABBINEHR
(3) EHBEHLBME 17,842,000
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it 594,722,000
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594,722,000 =

- 630 -

RIRAREE MR
287,125,000/




	03 中表紙２　実質収支（色紙）
	中1

	05 実質収支中表紙 p621
	会計名

	p623 実質収支
	空白ページ
	空白ページ



